award:
10 out of
10.00

Tpaints

1. Harmis Company has shipped $20.000 of goods to Harlow Co., and Harlow Co. has amranged to sell
the goods for Harris.

a. !dentif:.r the consignaor.
Harlow Co.
= Harris Co.

b. Identify the consignes.
= Harlow Co.
Harris Co.

¢. Which company should include any unsold goods as part of its inventory?
= Harris Co.
'Harlow Co.

2. Al year-end, Harris Co. had shipped $12,500 of merchandise FOB destination to Harlow Co. Which
company should include the 12,500 of merchandise in transit as part of its year-end inventory?
'Harlow Co.
®' Harris Co.



award:

2 10 out of
- 10.00

Walberg Associates, antique dealers, purchased the contents of an estate for $75,000. Terms of the
purchase were FOB shipping peint, and the cost of transporting the goods to Walberg Associates’
warehouse was 32,400, Walberg Associates insured the shipment at a cost of $300. Prior to putting the
goods up for sale, they cleaned and refurbished them at a cost of $930.

Determine the cost of the inventory acquired from the estate.

Price 5 75000+
Transportation-in J 2 4004/
Insurance on shipment + 3004/
Cleaning and refurbishing | 9804/

Total cost of inventory 3 78.680




[The following information applies fo the gquestions displayed below ]

Laker Company reporied the following January purchases and sales data for its only product.

Date Activities Units Acquired at Cost ~ Units sold at Retail
Jan. 1 Beginning Inventory 140 units @ $6.00 = § 840
Jan. 10 Sales 100 units @ %15
Jan. 20 Purchase 60 units @ $5.00 = 300
Jan. 25 Sales 80 units @ $15
Jan. 30 Purchase 180 units @ $4.50 = 810

Totals 380 units 1,950 180 units

Laker Company uses a perpetual inventory system. For specific identification, ending inventory consists
of 200 units, where 180 are from the January 30 purchase, 5 are from the January 20 purchase, and 15
are from beginning inventory.

awarnd:

10 out of
10.00

1. Complete the table to determinge the cost assigned to ending inventory and cost of goods sold using
specific identification.

Specific Identification

\Jan. 1 Beginning Inventory | 140§  6.004 1254/ 5 600 | 750 1545 6.00 |5 a0
Jan.20  |Purchase ' 60 § 5004 5545 500 § 275 545 500 5 25
Jan. 30 Purchase ' 180 § 4504 0 | ' 180¢/5 450 5 810
' ' ' 380 | i 180 5 1025 200 E 925




4 10 out of
i 10.00
paints
2. Determine the cost assigned to ending inventory and to cost of goods sold using weighted average.
{Round cost per unit to 2 decimal places. Amounts to be deducted should be indicated with a
minus sign.)

Weighted Average - Perpetual:

Goods purchased Cost of Goods Sold Inventory Balance

: #of Cost per # of units Cost per Cost of Goods = Cost per
Date units unit sold unit Sold # of units unit Inventory Balance
January 1 148 |@ & 6.00 = B a40.00

S - |

January 10 ) ! B.00«/ } 5 240.00
January 20 Gl @ & 5.004/ 0 @ % 3.00 = 5 240.00
60 @ & 5.00 = 300.00

Average cost @ & 40

January 25 @

January 30 1804/ @ 5 4 504 20 @ % 5.40 = 5 108.00
10 @ % 450 = 810.00
Totals  1,032.00 200 @ & 4 504 B 918.00




award

5 10 out of
g 10.00
painits
3. Determine the cost assigned to ending inventory and to cost of goods sold using FIFO

Perpetual FIFD:

Goods purchased Cost of Goods Sold Inventory Balance
: : Cost per : Cost per : - Cost per Inventory
Date # of units S # of units sold i Cost of Goods Sold # of units et Hatanes
January 1 140 @ 5 6.00 = § 84000
January 10 | | 100/ @ § 6004 = § 60000 | 04 @ § 600 = § 24000
January 20 60y @ 3 5.004/ d0¢/ @ & 6.00 = 5 240.00
6« @ 5 5.00 = 300.00
$ 540.00
January 25 d0¢/ @ 5 5.00 = § 24000 0 @ 5 6.00 =
40¢/ @ 5 5.00 = 200.00 204/ @ 5 5.00 = & 100.00
$ 44000 5 100.00
January 30 1804/ @ 3 4 504 0 @ 5 6.00
Dy @ 5 5.00 = 100.00
1804 @ & 4.50 = 810.00
Totals $ 104000 & 91000




6.

.......

10.00
it

. Determine the cost assigned to ending inventory and to cost of goods sold using LIFO.

Perpetual LIFO:

Goods purchased

Cost of Goods Sold

Inventory Balance

: 2 Cost per 4 Cost per 0 Cost per Inventory
Date # of units ik # of units sold it Cost of Goods Sold # of units Gt Yiilirica
January 1 140 @ & 6.00 = 5 84000
January 10 100« @ 5 6.004y = $ 60000 d0¢/ @ & 6.00 = & 24000
January 20 Gly @ 3 5004/ 40y @ 5 5.00 = 5 240.00
60 @ 5 5.00 = 300.00
5 540.00
January 25 204/ @ 5 6.00 = $§ 12000 204/ @ 5 5.00 = & 12000
60y @ B 5.00 = 300.00 0 @ B 5.00 =
$ 42000 & 12000
January 30 1804 @ B 4 504/ 204 @ 5 5.00 = 5 120.00
0 @ 5 5.00
1804/ @ 5 4 70 = 810.00

Totals

5 1.020.00




awarnd:

7 10 out of
) 10.00
e e e M T e

Laker Company reported the following January purchases and sales data for its only product.
Date Activities Units Acquired at Cost Units Sold at Retail
Jan. 1 Beginning inventory 140 units @ $6.00 = & B840
Jan. 10 Sales 100 units @%15
Jan. 20 Purchase 60 units @ $5.00 = 300
Jan. 25 Sales 80 units @315
Jan. 30 Purchase 180 units @ $4.50 = 810

Totals 380 units $1,950 180 units

Laker uses a perpetual inventory system. For specific identification, ending inventory consists of 200
units, where 180 are from the January 30 purchase, 5 are from the January 20 purchase, and 15 are
from beginning inventory.

1. Complete comparative income statements for the month of January for Laker Company for the four
inventory methods. Assume expenses are 51,250, and that the applicable income tax rate is 40%.
(Round your Intermediate calculations to 2 decimal places.)

‘Sales 5 27004/ 5 27004/ 5 27004/ 3 27004/
'Cost of goods sold lis 1025¢/ 1,0324/ 1.0404/ 1,0204/
Gross profit j 1675 1,668 1,650 1,680
'Expenses ' 1,2504/ 1,2504/ 12504/ 1.2504/
Income before taxes 1 425 | 418 410 430
Income tax expense | 1704/ 16T/ 1644/ 172
Netincome I 255§ 251 |§ 246 |5 258

2. Which method yields the highest net income?

®LIFO

) Specific identification
CEIFOD

'Weighted average

3. Does net income using weighted average fall between that using FIFO and LIFO?

®Yes
2 No
4. If costs were rising instead of falling, which method would yield the highest net income?
D LIFO
®EIFOD

' Weighted average
) Specific identification



[The following information applies fo the questions displayed below. ]

Hemming Co. reported the following current-year purchases and sales data for its only product.

Date Activities Units Acquired at Cost Units Sold at Retail
Jan. 1 Beginning inventory 200 units @ 10 = § 2000

Jan. 10 Sales 150 units @540
Mar. 14 Purchase 350 units @ $15 = 5,250

Mar. 15 Sales 300 units @340
July 30 Purchase 450 units @ $20 = 9,000

Oct. 5 Sales 430 units @340
Oct. 26 Purchase 100 units @ $25 = 2,500

Totals 1,100 units 518,750 880 units

Hemming uses a perpetual inventory system.

10 out of
10.00
paoints
Determine the costs assigned to ending inventory and to cost of goods sold using FIFC.

Perpetual FIFO:

Goods purchased Cost of Goods Sold Inventory Balance
Date # of units Costber | yorunitssold  COSLPET  cost of Goods Sold # of units COSLPET  jnventory Balance
January 1 200 a § 1000 = & 2.000.00
January 10 | 150¢/ @ § 10004 = $  1,500.00 50 @ 5 1000 = § 50000
March 14 A0y @ 5 15.004 iy @ 5 10,00 = 5 500.00
350 @ 1500 = 5,250.00
$ 575000
March 15 S0 @ % 1000 = 5 500.00 0 a 5 10.00 =
2504 @ ¥ 15.00 = 3,750.00 1004/ @ § 1500 = § 1,500.00
425000 $ 150000
1 Ty e ey e, e e
July 30 450y @ § 20004 0] @ $ 1000
1004 @ $ 1500 = 1,500.00
450/ @ 5 2000 = S,.000.00
$ 10,500.00
e——— oy o o o e o ]
October 5 | @ (§ o = |5 0.00 0 @ § 1000
100 @ § 1500 = 1,500.00 0 @ § 1500
3304 @ 5 20.00 = 6,600.00 1204/ @ $ 2000 = 2.400.00
$ 8.100.00 $ 240000
e 7 Y e e e Y e s . |
Cctober 26 1004 @ 5 25004/ 0] @ $ 10.00
0| @ |[$ 1500
1204/ @ 5 2000 = 2.400.00
1004/ @ $ 2500 2.500.00
Totals $ 13,850.00 § 490000




9.

10 out of
10.00
paints
Dietermine the costs assigned to ending inventory and to cost of goods sold using LIFO.

Perpetual LIFO:

Goods purchased Cost of Goods Sold Inventory Balance

Date # of units COSLBET | gofunitsson  “°SLPET  cost of Goods Sold # of units COSLPEr  jnventory Balance
January 1 200 a $ 10,00 = & 200000
January 10 | | 1504 @ § 1000 = § 150000 504 @ § 1000 = § 50000
March 14 0y @ |5 15004 50 @ |$ 1000 | = |$  500.00
a0y @ 3 1500 = 5.250.00
$ 575000
Warch 15 0 i@ $ 1000 = 5 .00 S0y @ 10.00 = 5 500.00
0y @ 15.00 = 4 500.00 iy @ 15.00 = & T50.00
5 450000 § 1,250.00

.  --—————————————————————— e e
July 30 4504/ @ § 20004/ Bl @ F 1000 = 5 500.00
Sly @ $ 1500 = 750.00
4504 @ F 2000 = S.000.00
$ 10,250.00
Cctober 5 1] i@ $ 1000 = 5 0.00 Shef @ 10.00 = 5 500.00
0 @ $ 1500 = 0.00 iy @ 15.00 = 750.00
4304/ @ F 2000 E 8.600.00 04 @ 3 2000 = 400.00
$ 860000 5 1.,650.00
Cctober 26 100« @ § 25004/ Sy @ 5 (.00 = 5 500.00
Sle/ @ 3 1500 = 750.00
20y @ $ 2000 = 400.00
1004 @ 2500 2.500.00
Totals & 1460000 5 415000




award:

10 10 out of

10.00

points
Compute the gross margin for FIFO method.

Sales revenue $ 35,2004/
LESE Cost of goods sold _ 13,8504/
Gross mangin |5 21,350

Compute the gross marngin for LIFC method.

Sales revenue 5 35,2004/
LEEE Cﬂsi of goods sold 14,6004/
Gmss margin _,$ 20,600




award:

10 out of
10.00
paints
Martinez Company’s ending inventory includes the following items.
Per Unit
Product Units Cost Market
Helmets 24 5650 3§54
Bats 17 T8 72
Shoes 38 a5 a1
Uniforms 42 36 36

Compute the lower of cost or market for ending inventory applied separately to each product.

‘Helmets ' 24 |3 50 % 54 % 1,200/ § 1,2064/ 5 12004/
Bats ' 7ls 78 72| 13264 12244/ 12244
‘Shoes ' B 5 95§ 91 | 36104 34584 34584
\Uniforms 205 3365 336 | 15124/ 15124/ 15124/

$ 7648 (§ 7490 |§ 7,394




Warnmerwoods Company uses a perpetual inventony system. It entered into the following purchases and
sales transactions for March.

Date Activities Units Acquired at Cost Units Sold at Retail
Mar. 1 Beginning inventory 100 units @ 550 per unit
WMar. 5 Purchase 400 units @ $55 per unit
Iar. 9 Sales 420 units @ 585 per unit
iar. 18 Purchase 120 units @ 560 per unit
Mar. 25 Purchase 200 units (@ $62 per unit
War. 29 Sales 160 units @ $95 per unit
Totals 820 units 580 units
award:
1 2 10 out of
© 10.00

points

Required

1. Compute cost of goods available for sale and the number of units available for sale.

& ot tinits Cost per unit Cost of (figrog:l:wﬂilame

Beqginning Inventory 10044 5 50,004/ 5 5.000
Purchases: .

March 5 4DW 55 004/ 22000

March 18 1204/ 50,004 7,200

March 25 2004/ 62.004/ 12,400

Total a20 5 46 600
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award:

10 out of
10.00

2. Compute the number of units in ending inventory.

Endinginventory 240/is



14.

ut of
10.00
aints

J. Compute the cost assigned to ending inventory using {a) FIFQ, (o) LIFO, (c) weighted average, and

(d} specific identification. For specific ideniification, the March 9 sale consisted of 80 units from
and 340 units from the March 5 purchase; the March 29 sale consisted of 40 units
from the March 18 purchase and 120 units from the March 25 purchase. (Round your average cost
per unit to 2 decimal places.)

beginning inventory

Perpetual FIFC:

' |  Goods purchased | Cost of Goods Sold Inventory Balance
: . Cost per . Cost per - Cost per g
Date # of units unik # of units sold i Cost of Goods Sold # of units GGt Inventory Balance
March 1 100 i $ b0D.00 = $ 500000
March 5 4004 @ § 55004 100« @ 3 S0.00 = 5  5,000.00
400/ @ $ 5500 = 22 000.00
5 27.000.00
farch 9 1004/ @ $ 5000 = $ 500000 0 o F G000 £
20y @ $ 5500 = 17,600.00 Bl @ % 5500 = § 4.400.00
5 22,600.00 §  4,400.00
s>, (== - % ;e —————————————————— =)
March 13 1206/ @ |5 E0.00¢/ 0 | @ '§ 5000
Bly @ 3 5500 = 4.400.00
1204/ @ $ &0.00 = 7,200.00
5 11,600.00
. — . — — — _— — ~— — .. .. — — . — . — — ../ —— _— 4
March 25 2004/ @ § 62004/ 0 o F G000
Bl @ $ 5500 = 4,400.00
1204/ '@ F G000 = 7,200.00
2004 @ 5 6200 12,400.00
5 2400000
= - —, - = == —————————————  — S ]
March 29 1] i $ G000 = & .00 1] @ $ G000
Bl @ 3 5500 = 4.400.00 0 a 3 5500
8¢/ @ $ &0.00 = 4 .300.00 104/ @ $ 60.00 = 2,400.00
1] i@ ¥ 6200 = (.00 2004/ @ 3 6200 = 12,400.00
$ 920000 $ 14,800.00
Totals $ 31,800.00 5 14,800.00
Perpetual LIFO:
| Goods purchased ‘ Cost of Goods Sold Invento lance:
Date # of units i ‘ #ofunitssold  “OSLPET  cost of Goods Sold # of units Costper  jventory Balance
Warch 1 100 @ $ 5000 = $ 500000
March 5 400y @ 5 55004/ 1004 @ |$ 5000 = '§ 500000
4004 @ $ 550 & 22 000.00
§ 2700000
Wtarch O 204 @ 5 50.00 = 5 1,000.00 B0y @ 5 50.00 = & 400000
400/ @ 5 5500 = 22 000.00 0 @ 5 5500 =
$ 23.000.00 § 400000
e ——————————— — e _—_ - = - o ———er=_ =  — =
March 18 1204/ @ T G000 By @ 5 50.00 = $ 400000
0 a 5 5500
1204 @ 5 60.00 = 7.200.00
& 1120000
o ——————— e . ——————
March 25 2004/ @ § 62004 B0y @ $ &0.00 = § 400000
0 @ I 5500
1204/ @ 5 60.00 = T, 200,00
2004/ @ I 6200 12,400.00
$ 23600.00
e — — = — ____  — e — = e ————————
March 25 0 i@ $ 50.00 = B 0.00 80y @ § 50.00 = $ 400000
0 i@ 5 5500 = 0.00 0 a 5500
0 i@ $ 60.00 = 0.00 1204 @ § 60.00 = 7,200.00
1604/ @ 5 6200 = 9,820.00 d0y @ F 62.00 = 2.480.00
§ 992000 $ 1368000
Totals 5 32,920.00 $ 1368000
Weighted Average Perpetual:
[ Goods purchased Cost of Goods Sold In Balance )
Date # of units COSPEr | wofunitssold  “OSiPET costof Goods Sold # of units COSLPEr inventory Balance
arch 1 100 @ 5 E0.00 = o] 5 000.00
March & 400« @ § 55004/ 1004/ @ $ 5000 = & 5,000.00
4004 @ 5 5500 = 22 .000.00
Average 500 | @ |§ 54004 = § 27,000.00
e ———— ————————  ————— . ————————— & — — . — | — ;&\ __ &~ . ]
March @ 20/ @ § 540Dy = § 22,680.00 80y @ § 54004 = & 4.320.00
March 13 120/ @ 5 G000 80 5] 5 5400 = 5 4,320.00
120/ @ |§ 6000 | = 7,200.00
Average 200 @ § G760« = § 1152000
-~ _~_— ___~____~ .~ o o .- L 4
arch 25 2004/ @ § 62004 80 @ 5 5400 = 5 4 320.00
1204/ @ ¥ 60.00 7.200.00
200 @ § 6200 = 12.400.00
400 @ § 5980y = . 23.920.00
T B | s .
March 29 1604/ @ § 59804 = 5 9,568.00 2404 @ $ 59804 = $ 1435200
Totals § 3224500
Specific Identification:
| Goods purchased ‘ Cost of Goods Sold Inventory Balance
Date # of units COshper ‘ #ofunitssold  O5LPEr costof Goods Soid # of units COSLPEr  inventory Balance
Warch:1 100 @ 5 5000 = § 500000
March 5 400! @ 5 55004 1004 @ 5 50.00 = 5 500000
4004 @ $ 5500 = 22 000.00
$ 27 000.00
Warch 9 B0y @ § 5000 = $ 400000 0y @ % 5000 = $ 1.000.00
i @ & 5500 = 18,700.00 G0 @ § 5500 = $ 330000
5 22 700.00 $ 430000
Y S R
Warch 128 1204/ @ § G000/ 204/ @ % 50.00 = $ 1,000.00
Ely @ § 5500 = 3.300.00
1204/ @ % 60.00 = 7.200.00
& 1150000
1
March 25 2004/ @ 5 62004 0y @ 5 5000 = $ 1.000.00
60y ® 5§ 5500 | = 3,300.00
1204/ @ 5 60.00 = T.200.00
200/ @ § 6200 12.400.00
§ 23,900.00
. - .. - -~ -~ - . "~ oot
March 25 0 i@ $ 50.00 = 5 0.00 2040 @ $ 5000 = $ 1,000.00
0 [ % 5500 = 0.00 Gy @ 5 5500 = 3,300.00
404/ @ $ &0.00 = 2,400.00 B0 @ % 60.00 = 4 80000
1204 @ 5 6200 = 7,440.00 Bl @ 6200 = 4 960.00
$ 9,840.00 $ 1406000
Totals & 32,540.00 5 14.050.00




award:

‘[5 10 out of

10.00
paints
4. Compute gross profit earned by the company for each of the four costing methods. For specific
identification, the March 9 sale consisted of 80 units from beginning inventory and 340 units from the
March 5 purchase; the March 29 sale consisted of 40 units from the March 18 purchase and 120 units

from the March 25 purchase. (Round average cost per unit to 2 decimal places.)

50,900

Sales V3 50,5004/ 5 50500 % 50,900 |$
Cost of Goods Sold V|3 31,8004/ 32,9204/ 32,2484/ 32 5404/
Gross Margin J|3 19,1004/ § 1?_gsu¢| 5 18,6525 18,3604/




award:

10 out of
10.00

16.

paints

A physical inventory of Liverpool Company taken at December 31 reveals the following.

Item

Audio equipment
Receivers
CD players
MP3 players
Speakers

Wideo eguipment
Handheld LCDs
VCRs
Camcorders

Car audio equipment
Satellite radios
CDVMP3 radios

Required:

Units

345
260
326
204

480
291
212

185
170

Per Unit
Cost  Market

$ 90 % 9B
111 100
85 a5
52 41
150 125
a3 84
310 322
70 24
o 105

1. Calculate the lower of cost or market for the inventory applied separately to each item.

Audio equipment
Rece:i';fers
ZD players
MP3 players
éﬁeak-ers”

\ideo equipment

| Handheld LCDs
YCRs
Carﬁﬁorders

Car audio equipment

| sateliite radios
CDiMP3 radios

Total

345
260
326
204

450
201
212

185
170

90.00
111.00
86.00
52.00

150.00
G93.00
310.00

70.00
4a7.00

95.00
100.00
9500
41.00

125.00
8400
322.00

8400
105.00

31,0504/ 32,8104/ 31,0504/
26860 | 26,000 | 26,0004/
26,036 30,970 28,0364/
10,608 8,364 83644/
72,000 50,000 60,0004/
27,063 24,444 24,4444
65.720 68,264 65,7204/
12,950 15,540 12,9504/
16,490 17.850 16,4904/
'§ 202777 |§ 285242 285242 |§ 273,054

2. If the market amount is less than the recorded cost of the inventory, then record the LCM adjustment
{o the Merchandise Inventory account.

Dec.31

_Dust uf_ goods su_ld _
Merchandise inventory

v
v

19.723¢/

197234
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